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6. &ath of the allotted marks (i.e. 0.375) will be deducted for each wrong af
7.

/CN/2016 .

ﬁ*fWﬁMonb% ;

. QUESTION BOOKLET

“Time- allowe X 1. hour
Number of Questibns ¥60
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INSTRUCTIONS '
ions carefully before answex} g the questions : -
This booklet consists of 24 pages including this fronf page. Verify page number of
the Question Booklet on each page. Il there is any discrepancy, bring i
the Invigilator. This Booklet containg questions in 4 languages:. Englis
and Nepali except those questions which are meant for English 1

of any ambiguity, doubt or discrepancy in the translation into other 1
would rely on the English version. -

Answers will have to be given in the. Special Aﬁswer-Sheet (OMR Answer Sheets'},:"‘i .

supplied for the purpose, which consists of two pages. Do not tear or separate any leaf
of the OMR Answer Sheet. ! :

Before you proceed to mark on the Answer Sheet in respdnse to various items in the |
Question Booklet, you have to fll in some particulars in the Answer/ Shee You must o
also write the Question Booklet No. on the Attendance Sheet. Do n

All questions have four probable answers (A), (B), (C) and (D). Find dut
answers appears to you to be correct or the best. Now darken the [
to the letter of the selected answer in the OMR Answer Sheet with |Bl
as per instructions sent along with the Admit Card.

If more than one circle is encoded fbr a particular answer, it will bg treated a¥fa
answer.’ : /

There is a blank page at the end of this booklet for Rough Work.

hall with the Question Booklet. The Special Answer Sheet (OMR) is
the Board and must be returned to the Invigilator, '
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1. The only woman ruler to sit on the throne of Delhi
ultanate was

(A) Jahan-A_ra'

(B) Mumtaz Mahal ~ _
* (C) NoorJahan 3 e
(D) Raziya Sultana

a AR R AR Tl P oS
: AUCE ) -
(A) wigeml
- (B) WOIE WZE

Tecelt Geraa T wE FO aTel TR Al ot
- (A) STEF-ST |
| . (B) gHAS W

(C) T e

(D) I gerar

fewell HeraaH STEA TH Ues AT Aiee & :
(A) SEFE-3T '
(B) HHeS HET

(C) TSt

(D) fsran gerwm

2. Fillin the blank:
zA,, Y4B XC WD

(A) VE
- (B) EV
(C) VE,
D) VE,

X AT T 5
ZA, Y,B, XC,, W,D,

(A) V,E

(B) EV
(©) VE,
(D) VE,
:l
o T = o

.ZAS, Y4B XC W D
(A) VE !
®B) EV
©) VE,
(D) VE,

e e o

ZAg, Y,B, XC,, W,D,
(&) BE

(B) EV

©) VE,

(D) VE,
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3. Anauthorwho writes the story of another person’s
life in known as

(A) Historian
/-‘(B)- Biographer

(C) Chronicler

(D) Diarist

4. Choose from the following alternatives the word
which is opposite in meaning to the word “Ample”.
(A) Sufficient : =
(B) Rare
(C) Insufficient
(D) Enough

S. A copper sphere of radius 6 cm is melted to form
spheres of radius of 2 cm. How many such spheres can
be formed?

(A) 27
(B) 31
©) 14
(D) 36

6 cm IPNE RMB @I Omim (slieewa SfF@ 2 cm
I [RFR 30 Colie (ot 311 M2

(A) 27

(B) 31

(C) 14

(D) 36

6 cm =91 916t 99 & U TiieTe S fTseme 2 cm
oo =t fere TireTeh SATQ ST Hehdl © 2

A) 27

(B) 31

<) 14

(D) 36

6cmmﬂ@ma1ﬂ§ﬁm20mmﬂ?f
mamlﬁaamah@? -

(A) 27

(B) 31

) 14

(D) 36

www.kolom.in
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6. The change of state of a matter directly from solid
to gas is called
(A) Sublimation
(B) Condensation
(C) Evaporation
(D) Deposition

G omiTela 3T I (AT AR A S
FeisEe aferaa s 5 ¢
< d,q) Toion
(B) €aredw
(C) AT

(]?) SRCFA O
!

3 ST & wie ATy e # gfEd
FEAE

(A) AT

(B) =Rt

(C) arsdtehtar

(D) &9

= vy wiere’ mmmwmwﬁaﬁq ;
T, = g A

(A) FATm
(B) ©rtaRul
(C) arsdismtm
(D) =&
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7. Conversion of 0-5% in decimal is
(A) 0-005
(B) 0.05
(C) 5/100
(D) 0:5%x 10

0:5% & Wit AT T3 o W9 23 ¢
(A) 0-005

(B) 0-05

(C) 5/100

(D) 0-5x% 10

0-5% =1 w3 wfafdd S 92 s9 99 8
E’?’ 0-005
) 0-05
(C) 5/100
(D) 0:5x%x10

0-5% 1 TfHR IREd T i T 507
(A) 0-005

(B) 0-05

(C) 5/100

(D) 0-5x10°

8. Rabindranath Tagore wrote under the pseudonym
(A) Parasuram

(B) Birbal
(C) Bonophul

9. A child who has lost both of his parents is called—
(A) A prodigy
(B) A vagrant
(C) A street child
(D) An orphan

10. Choose the correct antonym of the underlined
word: “Angels descend from heaven.”

(A) Blaze forth a9
(B) Float

(C) Gallop

(D) Come down

r

A e )
[

11. How many tiers.are there in the Panchayat system
in West Bengal?

(A) Five
(B) Two
(C) Four
(D) Three

ST RIEE ﬂﬁam'mﬁw i ?
(A) 5

(D) Bhanu Singha (B) & /)
€) b 5
QAN SIFT A AN Fire Gift == ¢ ©) fom (J\J
(A) “aeaN
Eg; W‘FT @ iR ST b R e # fh @
(D) SHfAZ A) =
Tt ey i iR B T A ferad 92 (B) =
(A) IREH - (C) IR
(B) sitaet (D)
(©) FTEA
(D) HrIRee | wﬁwwﬁﬁvmmmmmww?
@amu%ﬂtﬁﬁaﬁmﬁam? (A) ¥
(A) TRUH (B) §®
(B) siieiet (©) =R
(C) =% .
(D) wgfée (D)
www.kolom.in




12. The Right to Information Act was passcd in 13. The age of the father 10 years ago was thrice the
the year age of his son. Ten years hence, father'sage will be twice
(A) 1952 that of his son. The ratio of their present age is
(C) 2005 _ \ (B) 5:2 3 )
(D) 2000 8 Lo (C)9:2
r\t‘“ cp *
"? @) 13:4 20 g ;,, 1.
T D 2mn+10 e i - 2
(10/7ez =t IR T @ TR fee fm,
" S S ST SRR R A A (0= oz TR T @R T fFed TR A e
(A) 1952 maémamwamm:
®) 1977 @ 192 7 .
~€) 2005 Yy 52 = 20— 10 — 2wkl -
(D) 2000 2:2 20 z;_zai -
(D) 13:4 e Ul 6420
xgandll 2 C v 2us
. - 265 RETHE
- 2 10 = & foran =41 37 O3 1 g | 7 oW A 1=
G T R st fra o § 2 | :‘;ﬂmﬁtgﬁimaﬂaﬁmaawm:m _
(A) 1952 : 8.7 59 < e
B) 1977 ®B) 5:2
(C) 2005 ©) 9:2
(7). 200 ®) 13:4
10
(zmxw) Qm—-@ b a
o 10w o e s g v S T o T
_mmﬁmm{ﬂwgﬁwnﬁﬁsﬁaﬁm
Wﬂaﬁmaﬁ:ﬁmﬁquﬂ‘ﬁ AT FI Fid §3?
(A) 1952 (A) 7:3
(B) 1977 (B) 5:2
(C) 2005 © 9:2
(D) 2000 (D) 13:4

www.kolom.in

RB/CN/2016 .




K

7

RB/CN/2016

- 14. A rectangle has width of 5 cm and diagonal of
13 cm. Find its perimeter. '

(A) 34cm
(B) 36 cm
- (©) 30cm
- (D) 38 cm

G0 RSCFET 7 5 cm @R I 13 cm T
CPaba S T 7@

(A) 34cm

(B) 36 cm

(©) 30cm

(D) 38 cm

T 3Mad &l AT 5 cm 94T F 13 cm 31 ST
- g ® !
(A) 3dcm '
(B) 36¢cm
(C) 30cm
(D) 38 cm

TS EaH AR 5 cm THFW 13 cm B | IR
T 8 , o

15. The average age of mother and her six children is

12 years, which is reduced by 5 years if the age of the
mother is excluded. The age of the mother is

(A) 40 years

(B) '48 years

(C) 50 years

(D) 42 years

e N QIR O T AGIEI ITETH G 12 IS |
A I A% e GRS 5 T2 0 A | NS 7 F9 2

(A) 40354

(B) 48 3R ’

(C) 503574

(D) 423574

T Tl T 36 B a6 i Siga g 12 99 & ut iy
gﬁﬂﬂaﬁﬁﬂwﬂmmsﬂwﬁﬁﬁﬁ%lﬁﬁ%m

(A) 40 T4

(B) 48 7

(C) 50 94

(D) 42 =

. IS HRN T SR B e i a1 12 9
T | S SR T 3w oY 5 e o g ST
3 Hid B2 L .

(A) 34cm . , (A) 40 T4
(B) 36cm (B) 48 7
(C) 30cm (C) 50 =
(D) 38cm (D) 42 9§
www.kolom.In
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16. Find the exact number of squares in the following

figure: . A B

(A) 16

(B) 15

(C) 12

(D) 18
D P

s efkibce @5 Isowas w4t 2t ¢
A B

(A) 16

(B) 15 r

© 12 L{—J

(D) 18 |
DI —=¢

F9 o o & it Y W W ¥
A ' B

(A) 16 —

(B) 15

(©) 12

(D) 18 D o

Tefeguen! fommn sl vt g o
A __ B

(A) 16

(B) 15 ,T

©) 12 u

(D) 18
D S

% +34Y

17. Full form of FIR is

Y

(A) First Investigation Report
(B) First Information Report
(C) First Incident Report
(D) First Instance Report

\FIR-43 #jffs ot el ¢
(A) First Investigation Report
@B) First Information Report

(C) First Incident Report
(D) First Instance Report @p

FIRF QI &I ¥ :
(A) First Investigation Report
(B) First Information Report

(C) First Incident Report
(D) First Instance Report

v

FIR &I 70 &9 &

(A) First Investigation Report
(B) First Information Report
(C) First Incident Report

(D) First Instance Report

www.kolom.in
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.18. Who was popularly known as ‘Sher-e-Punjab’? 19. A man has some hens and cows. If the number of
(A) Bhagat Singh heads be 48 and the number of legs equals to 140 then
(B) Jai Prakash Narayan the number of hen will be
(C) Lala Lajpat Rai (A) 22
.. (D) Ram Monohar Lohia (B) 23
| i ©) 26
' (D) 24
‘CRE-a-gi i AR g ﬁwwﬁqﬁ% @32 FESF 2w | 7
(A) ©ofe g SITHR A GG A2 48 @R SR (I A1 1402, O
(B) & el e R it ol A e I
| () N AT A (A) 22 \{D \r\::u
(D) A A At % 23 ,{C \/
26

D) 24 b\ \U\D
@ | bﬁ@ ,)/}/

R-T-TeTE ¥ W Y B fre 47 | T AR % W g g o e ¥ m&:sﬂﬁq.—:;
(A) W fe gﬁ@%ﬁ@ﬁaﬁwmlma,ﬁmﬁm
(B) ST Yehrdl A0 A) 22
(C) I TIrsTad U ®) 23
(D) T TR e © 26
(D) 24
(8] MILRE (A) 22
(B) S eI AT o
(C) wrem wISId [ ©) 26
(D) ™ TR e ' D) 24
1 :
! www.kolom.in
el
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20. An autorickshaw is moving at a speed of 21. Each occupation has it own ; bankers,
40 km/hr for 2 hours and 30 minutes. If it reaches the lawyers and computer professionals, for example, all
destination in another 1 hour, then the total distance use among themselves language which outsiders have
; * covered by the auto will be ' difficulty to follow.
- (A) 120 km : : (A) rewards
(B) 140 km (B) jargon
[ (C) 160 km - (C) disadvantages
(D) 200 km (D) merits
22. Which of the following are primary colours?
(A) Blue, Red, Yellow
@26 SHIRHA 40 kiv/hr AfSTaTs 2 9% 30 RS (B) Red, Yellow, Green
| 5Tz | W G ISR SIS 1 ¥ Aw e, ot (C) Yellow, Blue, Green
I b T @y Sfews e (D) Red, Blue, Green
(A) 120 km
(B) 140 km ; e @m aeskns @ Te <61 2 e
(C) 160 km (A) e, A, =W
(D) 200 km (B) ==, 25w, AgE -
| . (C) ZA, e, I @
| DY T, e, T
e TR 40 feRofHo /i %t ifa § 2 six 30 fime fafcfer T A A dfamr T E?
ST € | el R age H afe 38w e ain e, @ A (A) e, e, den '
g ol g T R (B) @, drer, &1
(A) 120 = . ©) tﬁﬂ, 3'1?,"-’ =
(B) 140 f&fa. (D) =, e, &
1 (C) 160 frfa.
(D) 200 f&.fa. frafafaa 7 1 Hifes 182
(A) e, T@, TRen
(B) T, weed, e
(C) e, Hfeh, BfEh
T AR 40 kmv/hr =1 7ifaen 2 s 30 fafe (D) T, en, sfeEn
T | T3 T TG A ST 37 | S T, T <l 3 _
eI i T2 /ﬁ Opposite of “SYNTHETIC” is
(A) 120 km (A) Cosmetic
(B) 140km ) (B) Plastic
(C) 160 km "o (C) Natural
(D) 200 km (D) Artificial
\j

| - www.kolom.in
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2 dz':éc??;:ii] t.he following interrogative sentence into 26. Complete the series:
He asked me “do you like music?”’ JAK, KBL, LCM, MDN, .
(A) He said that whether I like music. (A) OEB
(B) He told that whether you like music. (B) NEO
(C) He asked me whether I liked music.
! (D) He asked me did you like music. © PFQ |
§ 25. Which number replaces the letter “X’? (D) MEN :"E.
QO @
.@ (A) 263 | 2] | |
| - ;:
EC; iig 6D @ ® B srolef T 8 |
: JAK, KBL, LCM, MDN, i
(D) 283 |
' _ (A) OEB |
X o 2w @i w1 7ae (B NEO
L G @ (©) PFQ
[29) ' (D) MEN _
(A) 263 ' ' .
(B) 253 DRCRS |
(C) 273 B
- (D) 283 _f'
. TH T A IO R 4
= fed e fad & sgER X Fam JAK, KBL, LCM, MDN,
IORON® (A) OEB
O | B
‘| (A) 263 (©) P
D) MEN
,{; o 5 ) @ ® (D)
(C) 273
(D) 283
X’ T TG HT FHIas TR 9837
A T [T
JAK, KBL, LCM, MDN,
e 8 (A) OEB
(B) 253 . | . B NEG . ~
(©) 273 -_ © PFQ _
(D) 283 (D) MEN : . )

‘www.kolom.in
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27. The word “Jhum” is meant for— 28. When you see any traffic signal, which sequence
(A) Political movement in the North East of of signal do you observe from top to bottom?
India (A) Red - Green - Amber
(B) Agricultural activities in the North East of (B) Green - Amber - Red
i (C) Green - Red - Amber
(C) Tribal goddess of North East India (D) Red - Amber - Green

(D) Traditional dance form of North East India

)Y
2 |
(A Tl F @RITS JIAT T A2 # ¢ gl B BT i IRE S (3 A
(A) Teed OIRTST AMANSD SCHIEH 3 T (I S O7t T2
By Tarid oRTea 3 I | (A) @I - 7 - T
(C) Taeid ©rared Borere (el (B) @ - T - &
(D) Tweld SrTed 2bfeTe A6 (C) 1qS - A - T
. (D) @ - T - W& @

, 2T frel W SR Y R F SR wam IR a4
wwﬁﬁﬁmﬁ?ﬁﬁwmm% frat ¥

(A) 9RA & YOI § T Teiaeh A= (A) T - & - el

(B) A % qafeer # ek Y hrehed © (B) = - dien - @

© W%ﬁﬁ(ﬁmﬁ .' (© T - e - dien

(D) W 3 e 1 T T (D) et - el - &

o Y S W T : Irarar e weft | q, §9 g 6 507
(A) v e Tea Tt e ~ (A) T, TReh, wRedn

(B) YRGS alc TSe i HRiwed (B) =, ggeh, T

(C) WIaeh! el T %l SHifeh St - (C) e, T=h, SRl

(D) W Yaiel T3 T v o7 (D) T, ween, i

R ' www.kolom.in
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9. Which day is observed as ‘World Environment
Day each year?

(A) 5th July

(B) 25th June ‘

(C) 5th June

(D) 15th June

Wmmﬁmﬁmmmm
?

(A) STEER

(B) 250 g
/_t'C/) 5% g

(D)-153 &=

D

Torea welteror feem =1 e farg e o <man 2
(A) 5o

(B) 2531?_[

© 5+

(D) 15

forear e Feer T oo Wien 7
(A) 59

(B) 251

© 591

(D) 1597

12

for

30. Inthecomputersoftware terminology, PDF stands

(A) Portable Document Format
(B) Portable Digital Form

(C) Printable Digital Format
tD) Printable Document Format

Computer Softwar-& PDF 32/ifb3 2Jeff% et zral ¢
}A) Portable Document Format

(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format

(D

FHR FRPR F I=<Eelt § PDR 2 2
(A) Portable Document Format
(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format

TR TR m:n PDF 3% ¥ -ér?
(A) Portable Document Format

(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format

www.kolom.in



(A) Knowledgeable
(B) Omniscient
(C) Clever

(D) Intelligent

tank. The leakl can empty the filled tank iy,
(A) 2 2 hours
(B) 8 hours
(C) 7 hours
"hours

G 215t 4 Biiwes 2 9%y
G0 FE! AP & G
2.3 U1 T # | G BT

(A) 2'31 oy
(B) 89%m
(C) 7 9%

@ 14 %13

T Zoht S UM D SR T T U 9 2 ey o
G T A 0 o 5 ) A o 2 L s i
9t i fox @ @t = H 9ug o

(A) 25 ¥

(B) 8 Eer

(C) 7%

(D) 14

TS 9l SifehAT 91 9+ g3 v eIes | W
aﬁmgﬁmmﬁﬂ‘é%mﬂﬁﬂﬁalm
el A1 it s 1 ifer Hia gHam @l g

&) 25 5= ;

(B) 8&=1 ' '

(©) 791

(D) 14 5=

T 2o 0 otz |
A A0S oifg
e e T A

13
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33. The father was anxious : .
his daughter.,

(A) at

(B) for

(C) about \\i =3
(D) with Lﬁ_

34. Whenaplotoflandissold for¥ 1 8,700, the owner
losses 15%. At which price the plot be sold in order to

gain 15%? e
(A) T22,500
(B) T21,000 L w [ ¢
g1
(©) 25,300 ns lj\\g J
(D) 25,800 fﬁf'%"’;
b
B
9wt X 18,700, bt R s aRE i

15%%@:@@7&%%%2:%@?@@15%
S 312 :

(A) 22,500 g Fe0 X o

(B) ¥ 21,000 e .
Sy T 25,300

(D) 25,800

A FTF FT AT 18,700 F F= W sad wiierw
B 15% &l it ¥ 115% o e 38 sq ewe 9
T W =1 9ifee?
~ (A) T 22,500

(B) T 21,000

(C) T 25,300

(D) T 25,800

A 1 TH g T 18,700 H1 = Aferwdt 15% i
T 1 15% w0 T e i i W sy w2

(A) 22,500 :

(B) T 21,000 |

(C) 25,300

(D) T 25,800
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35, IfP denotes “+", R deriotes ‘x’, S denotes ‘- and

I' denotes ‘/’(+) then what would be the value of
SRO9P7S9T3P6?

(A) 55
(B) 39
©) 54
(D) 128

M P o, +, R4 O %, §-47 we

TR T */(+) W, @5 RIP7S9T3P6-
CERIEEIAC -To |

(A) 55
(B) 39
(C) 54
(D) 128

TfG P+ I @ HT ¥, R % A giem e

® S W gfaa WA R, T /(=) B gfem wa L, A
S5ROP7S9T3P6%AAET:

(A) 55
(B) 39
(C) 54
(D) 128

A PH 19+, RA 3 %, ST aef Ty
& /(+) v, SROP7S9T3P 6 F A % g2

(A) 55

(B) 39

(C) 54

(D) 128

14

36. Which of the following is not a session of the
Indian Parliament? &
(A) Summer session
(B) Winter session
(C) Monsoon session

(D) Budget session

TR @I SIS FeATE ST 72
(A) T S

(B) Treiaie wifdcaa

(C) T Sfdrm

(D) MG SfH=ie

0

TTH /B WA GG 1 SAREE T 82
(A) Ureerets sifides -
(B) NINEIS IR RS L E LR o ,
- (C) T e |
(D) S fuaym

TATSTR B AT HE = SAfdem 2rea?
- (A) TSR 3TfEem .

(B) Shaeprei= aifudem

(C) aTRe aifudym

(D) 9 Aty

www.kolom.In
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37. Which one of the following gland is located very 38. Arrange these four districts of West Bengal from
near the brain? | North to South
(A) Pituitary gland (i) Burdwan
(B)_ Thyroid gland (Sg gfﬁﬁi
- (C) Adrenal gland (iv) Howrah
i Beetsas (A) G, G, G), (v
B) (@), (i), (ii), (iv) |
(©) (i), (i), (ii), (iv) |
(D) (), (i), (iii), (iv)
siffsTEE R (e en v fire
| S SR A
@ oifef TR TRew g w3, ¢t == ¢ 9).?@“
Na) PRER afy (i) e
e ' (iii) Tarew
i (iv) 2Tl |
6y T IR A) G, G, @, (v) 73

(D) e @ ®) 60, i, @, @)
(©) (i), (i), (i), (iv) _
£D) (), (i), (1), (iv)
e STt & 7 foell SR AR F T H

T |
(i) =
T A 3 o i TR & T T ¥ (ﬁg stge
(20 Tl | (iv) T
(B) oTES M A) Gi), (i), @), Gv)
(©) et i ' ' ®) @), Gii), (i), (v)
(D) s ©) (i), (), (i), Giv)

D) @), (), (i), (iv)
i SgTe fowen Tee Se 9 S T

LEIEGE
(i) stfwm
. (i) st
et fe 3 Tif AR o T D (i) S
; . (iv) e S
(A) faegert 1y i : o i
ey : (A) (i), (i), @), (iv)
(B} SmsiE | ®) (i), (i), (i), (iv)
(C) et 1y : (©) (i), (i), (i), (iv)
(D) = £ . (D) ), (i), (iii), (iv)

www.kolom.in
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39. Change the voice of the following sentence:
“Who is creating this mess?”
(A) By whom this mess is being created
(B) Who has created this mess.
(C) By whom is this mess being created.
(D) By whom has this mess been created.

40. Choose the correct synonym of the word
‘Insurgency’.
(A) Rebellion
(B) Hostility
(C) Attack
(D) Enmity

41. A clock loses 5 seconds a hour. If the time in the
clock is set right on sunday noon, then what time will it
indicate on monday noon (i.e., the next day)?

(A) 12 :00 Noon
(B) 11:58 PM
©) 12:02PM
(D) 11:58 AM

435 =Y =fS 7w 5 ciee @ @ T |
Tl A== 1oiea (1261 7w 9fefa s s @ et
R 00 GINRIE Foica (Wi #1033 i qofee) =i 9 s
AR ?

(A) 12: 00 iz

(B) 11:58PM

(C) 12:02PM

(D) 11:58 AM

e TS Ui s 5 Yave @l Wt § 19t uS w gm
tﬁﬂtqmaﬁraﬁmﬁm&amwa I 9aR T
1 IGH GHT BN

(A) 12 :00 941G

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM

THIA AT S FFeHFA TS I A TS Frama |

AR Hea1g 9 T, ™ WHER H qeag 0 96y F5
TEEB?

(A) 12': 00 941G

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM
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42. Sum of two numbers is 45. Their difference is
1/9th of their sum. Their L.C.M. is
(A) 100
(B) 150
(C) 250
(D) 200

af6 TR s 45 | AR Rtz e
QIR 1/9 Six | AOA 717719, Z0A 8

&) 100 3
(B) 150 L
(C) 250 / %
(D) 200 W T 0

QI 37l T AMTHT 45 R | ST SR Sk ANTHeT
1/941 3191 € | S99 L.C.M. 81T :

(A) 100

(B) 150

(C) 250

(D) 200

8 Sihehl ANTHET 45 2 | 3THR! e ATHS F 1/9
39 B | EH L.CM. F §?

(A) 100

(B) 150

(C) 250

(D) 200

43. A person who helps another to commit a crime is
called

(A) Colleague
(B) Accomplice
(C) Assistant
(D) Gangster

www.kolom.in




44. Introducing a boy, a girl said “He is the son of th
daughter of the father of my uncle. bl;{pw is the b :

related to the girl? ﬂ X
(A) Nephew [ /
(B) Cousin
(C) Brother p X B Rt
(D) Son—in-laﬁ J
= -+
A, D

a3l e SfFfoe a7 T 93 o =
“q ST P A G (= 191 1 @ b sy
& (R I TIH =
(A) il
;@ forge o
) O
(D) &R

«*915
M Q’\N\

m@\/

7

e oIS 1 U= 8 §U T oTgh! 3 e, e W
;ﬂr%ﬁmﬂéﬂmﬁa%l"mmﬁﬁﬁw

(A) wetsT

(B) T 9

(C) g

(D) T

T e TR R, TR e e, AR
AT B! DI B | el TRl e F?

(A) st
B) w
(C) i
(D) T

www.kolom.In
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45. P,Q, R, S and T are five boys. Given that P is
taller than Q, R is shorter than P, S is taller than T but

shorter than Q, the tallest boy is
(A) P
®) Q
© T
D) R

~ P,Q.R.S, T slivem e, T P, Q-47 (A&
o1 2; R, P99 (A0 (2! TF; S, T-431 (AT o741 frg
Qaacwmiﬂlwammmmmmﬁ?ﬁ? »

(A) P
mep—P>9
(D) R fz‘&,?"ﬁ

P,QR STHTH= eig% € 1A P, Q| Tal §,
R,PABAE, S, Tﬁ‘lﬁ?ﬁﬁQ'@rm% o A gy
GEIRSECIh S ‘

(A) P

(B) Q

©T

(D) R

P, Q,R, S, T Ui %ere® &1 Afg P, Q W= w1,
R, P 9=I 81, S, T 9= ol T Q Wl SII T, T 9=
I HN?

(A) P

(B) Q

) T

©) R
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"l 46. The State with highest populatlon density is
(A) West Bengal

| (B) Bihar

/ (C) Uttar Pradesh

i ’ (D) Maharashtra

i _ FRAGE (N TRt Ig sy arenf 2 ¢
. - (A) Ao

| ®) Rae

| (C) ez

I'| -

I (D) w2 /@

’ T ST SHE S e T
| (A) 9f=d smer
L ®) firer

(C) SR ¥

(D) Herg

T VT S SRS T )
(A) ufyem SgT

(B) forer

(C) IR W

(D) 7eRE
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47. Dipa Karmakar participated in which game in
Olympics?

(A) Athletic
(B) Swimming
(C) Gymnastics
(D) Boxing

wﬁmwwﬁmmwa@mﬁw?
(A) SRR
(B) Hrem

_(ey femite

D) R @

mtm@aﬁmmﬁ o foqa o2
(A) Ry

(B) Tt

(C) Femfesa

(D) ket

< e, e 4 o e s e

feran?

(A) Yoo
(B), 4T

(C) T
(D) HehsITSit
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48, Thesidesofa tnanglearemthe ratioof7:9:12. The

difference between the lengths of the largest and smallegt

sides is 15 cm. The length of the largest side is
(A) 12cm
(B) 24cm
(C) 60 cm
(D) 36 cm

= fagred el wqe =1 7: 9 12/ 1
HAEE @ A2 3R T (RITB! AE ST 15 om 27, O
TG TC AR 01 =(A 3

(A) 12cm

(B) 24 cm

(C) 60 cm

(D) 36 cm

WAy HE7:9: 12%?31'@&%‘ | FEwH T

AqH g A 15 cm ¥ | JeH g Hl <91 B
(A) 12cm
(B) 24 cm
(C) 60cm
~(D) 36cm -

TS e ag 7: 9 : 12 3| WA o T Ead
mmmmﬁnmwa@ﬁ

(A) 12 cm
(B) 24 cm
(C) 60cm
(D) 36 cm

49. Choose the correct one word substitution of the
following sentence:
“A decision on which one cannot go back”.

(A) Incorrigible

(B) Irreplaceable
(C) Irrevocable

(D) Infallible

19
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50. 630items are divided among X, Y and Z in such
a way that X gets thrice that of Y and Y gets
5 times that of Z. Find the number of items received by
X, :
(A) 425
(B) 400
(C) 450
(D) 475

630f a1 X, Y 933 Z-97 00 91 ©l9 03
@em W @ X, Y937 (U3 fomed a2 Y, Z-99 (A
sHped &R cofet | X Foafe & comfes -

(A) 425

(B) 400

(C) 450

(D) 475

630 g3l 1 X, Y W& Z H 39 7R A foysnifera faman
SR R XY & 6 7om &R Y 1 Z & wite on firemn
R X 1 fere =g firel?

(A) 425

(B) 400

(C) 450

(D) 475

630 SIH WM X, Y, Z 7 I5adt

& o =t
o A 9, XA

i g R
(A) 425
(B) 400
(C) 450
(D) 475
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S1. fy =3x+ 12 and y = 5, then the value of x is

(A) 3/7
(B) 773
©€) -7
(D) -7/3

My = Ix+128Ry = Siﬂ,mmamm,
(A) 377

- _(B) 3

© -

(D) —7!_3

ARy =3x+12Wy=57, ?i’lxmmn-emr
(A) 377

B) 7/3

© -7

D) -7/3.

g y=3x+12Vy=5q9 :x;aﬁ-[m”a;aj
(A) 3/7

(B) 7/3

© -7

D) -7/3
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52. In India, supply of money is controlled by

(A) Ministry of Finance
(B) Reserve Bank of India
(C) Finance Commission
(D) State Bank of India

WWNWWWW?
EOR-RE

IB) ©ReR RFes s
(C) u<f i -

(D) SIS GO6 yiE

®

TR H 1 < afToT e g P e s 82
(A) Tam Wmerm

(B) ¥RdH fisrd ¥

(C) fom smam

(D) ¥RHE ©e ¥%
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53. When a number j 18 first increased
then reduced by 10%, the number

(A) decreases by 19
(B) does not change
(©) increases by 1%
(D) increases by 99

by 10% ang

40 TS T LA 10% asﬁmmﬂa 10%

ASIA W, o3 el
(A) 1% T
D) oz

©) 1% e
A
|

(D) 9% A%
aﬁ@mﬁm%mﬁmma‘hmm%w
fean S & =% den
' (A) 1% =7 B St
(B) HHM @
(C) 1% =g STt
(D) 9% =% et

T3 WA IS 10% T2 T HR 109% Sz

(A) 1% ¥ &5
(B) ¥HA E®
(C) 1% 9D
(D) 9% =TB

www.kolom.In
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54. Inacertaincode “PROSE" is written as "PPOQE"
how is “LIGHT” be written in that code?

(A) LIGHT
(B) LGGFT
(C) LGGHT
(D) LLGFE

O

3 (I AFSFHTS “PROSE” & “PPOQE”
T4 2 01 GR SO SR “LIGHT” & Sreitg
T TR 2

(A) LIGHT

(B) LGGFT

(C) LGGHT

(D) LLGFE

Ll

i Us Heha ferfy i “PROSE”EP?[“PPOQE” forar
ST ®, @ “LIGHT” %1 a1 feran wmam? .

(A) LIGHT
4B) LGGFT
(C) LGGHT
(D) LLGFE

9 T W fefy w “PROSE” =i “PPOQE”
fera, “LIGHT” o =h ferftrmr st Sifigms?

(A) LIGHT

(B) LGGFT

(C) LGGHT

(D) LLGFE
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| / - 55 Sat}ajit Ray Film & Television Institute is located 56. ELISA testisused todetect whichofthe followiné :
!" ‘at | |\ . disease?
’ (A) Ranchi f (A) Cancer
| (B) Delhi ;’ (B) HIV/AIDS
€) Kolkata (C) Brain tumor
(D) ‘Mumbai (D) Malaria
| wATeTfre A e ot (R TR A
e ELISA (5351 @I @15 =& TA0S A2 IR ?
(A) i (A) T '
(B) ff _ (B) <%, w3, fS. /2w @
i ©) z=rrel @ ’ ©) @ fearm
| 01 7R )
| Fi |
| |
i st T fren '
- T QS el s et frerm ELISA sfa 7 % 3 fo i 8 wee & fern for
{ _ | ST R?
(A) T=H
_ (A) F
i (B) feeeit
{ (B) T, 3TE. i/usw
! (C) HieTHIaT
(D) g8 (© 1=
(D) Tt
!’
TSt T e 10 efifeem sieye e fea '
B? - ' ELISA 31 < 3 fermmeat i g2
(A) T=h (A) F
(B) feeeht (B) TH. 3. H/ugy
(C) hIcTehraT (C) 1 =R
(D) =% ' | (D) wef
www.kolom.in
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~ 57. Theexact word which denotes the highest degree
of comparison to the word “strong” is

- (A) stronger '
(B) strongful . .

(C) strongest

(D) strengthen

58. Choose the best prefix which matches with the
word “Spoken”? i B

(A) De
(B) Out
(C) Dis
(D) En

59. Fill in the blank with appropriate words gi.ven
below: -

A police team was __ to the case.

(A) formed, following .

. (B) constituted, investigate
" (C) committed, study

(p) iocated, adjpdge
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60. Evaluate the followingf

O (BIxy-I6x4)
o (V16x4) - (81x3)

(A) 1

(B) —11

(©) 11

D) -1

-  (B1x3)-@&/16x4)

(V16 x4) - (\/81%3)

(A1 :

(B) =11
(O 11

(D) -1

\/§1-><3 - \/ﬁx4

E\/Ex4))~('(\[éﬁx3; Eﬁfmﬁ?ﬁlﬁl

(A 1

(By —11

(C) 11

®) -1

e feush! 3k s 7 FereT

(\/81x3)- (/16 x4)

o 1 (V16 x4) - (/81x3)

(B) —11

(©) 11

D) -1




